371

11

10,300

1,450

3,000
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| CIOD m0|/LI
75%

| __H20 | . 1o 48 ___. 32 ____. 4.0
C-3 [_.H2L_ ) ____. 2.'3.: ...... ) '.9.: ———— - ?".5.:. ..... 38
H22 2.1 401 3.1 3.8
| __H20 ... 200 52r ___.32v . 3.7
C-4 [_H21 | ____ 22, ____ 1 89 ___ 3% _____ 4.0
H22 2.0 42, 3.0 3.3
H20 164 46, 3.0, 37
C-5 [_.H21_ | . 20, ____: 48, 331 ____ 3.5
H22 19! 45! 3.0! 3.6
| __H20 | 26, ____ 60, ___.39____. 4.0
O-1 [_H21 | ____ 29, ____._ 70y A9 6.5
H22 39! 95" 54! 5.6
| __H20 | 22, ¢ 65, ____41_____ 4.9
O-2 [_H21_ | ____ 261 91 .50, ____ 5.8
H22 31! 10,0 5.3! 5.4
H20 0.8t 581 3.5 4.1
0-3 [ THai | TTTTTamT T T2 1T 51T 66
H22 2.7 10.0s 5.0 5.6
H20 301 1301 5.51 6.2
O-4 | Rt | 261 81 561 6.0
[T R22 T T 42, T 97, 65 71
O P 69 ____4L_____ 47
0-5 H21 25, 89, 5.5, 6.3
H22 36, 91} 5.8 6.8
H20 31 6.8, 46 5.2
O-6 [ __Hei |' "~ "3L " " 71 " 51 "~ _°55
H22 42! 81' 6.1' 6.7
| __H20 | . Y A 26, ____23,____. 2.6
S-1 [ H21 ) . 23, 35, .29, ____ 3.3
H22 17! 41 2.4 2.0
H20 22! 78! 39! 39
1. H2r A 42y .32 .. 3.5
H22 241 8.41 4.3 4.9
| __H20 | _____ 23 631 ____42_____ 5.0
2 [ H21 ) 2.'6.: ...... 9 '.9.: . - L 4.9
HQ 3.1! 8.3 5.l| 5.%
H20 17, 5.1 2.8, 3.1
46 H21 18, 45, 3.1 35
[ TR T 210 T 4917 T3 35
| __H20 | ___. 17 48, ___.30._ ____ 3.7
B-3 H21 19, 43! 3.1 3.4
7 7 46! 29" 7T 35
| __H20 | .. Y A 39, ____.28, ____. 3.7
B-4 | __H2l | ____ 16, ____. 36, ___.30,____._ 3.4
H22 18! 4.4 2.7 31
H20 16" 40! 2.6! 2.8
=T N 7 N IS TN 1 Y 5 LR X
H22 181 41 2.7 2.8
H20 20 7.0 3.5 38
28 [ CTHILTTTTTTLSTTTTEE L TTT27 782
H22 2.4 851 4.01 4.7
0 - JHe0 2.'1.: ...... 6 '.4.: ———— - ?;6.:. ..... 4.0
| __H2l . L5 AT 3.7
H22 25, 7.9 4.1, 4.4

COD




COD mo/L

I I [ 75%
[ __H20 | ____. 1 48r 30 ____ 34
A-2 [ H21 | 25 361 __ .29 ___. 3.0
H22 2.01 421 2.7 3.0
| __H20 | . 18 351 ____.26____. 3.2
A-3 . _|:|2_1_ ________ 2_'1_' ______ 3 '_4_' e o _2'_71 _____ g_8
H22 22, 3.9, 2.7, 3.0
H20 20 6.0, 3.2, 37
32 | _H2r_ | ... 15, 32y _____26,____. 2.8
H22 16! 47! 2.8 3.3
[ __H20 | ____. 17 36, ____.25____. 32
A-6 [ _H21 | . 23, 33, ___.28,_____ 2.9
H22 19! 37! 26! 2.9]
[ __H20 | ____. 15 34, .25, ___. 31
A-r [ H2L | . 20y 31, .26, ___. 2.9
H22 18! 37 2.6 2.9
H20 191 6.01 3.01 3.2
34 | _H2r | 4 31v .23 . 2.7
H22 17 521 2.81 29
| __H20 | . 1.-6.5 ...... 4 -.5,: oo .2-.6i ..... 2.9
35 ___I:iZ_l_ ........ 1.'3' ...... 2 '.7'-----.2'.1' ..... gf"
H22 11 32, 22, 25
H20 15, 32, 2.4, 2.8
A-10 H21 18, 29, 2.5, 2.6
H22 16} 38! 2.4 2.4
H20 15 27, 19, 21
A1l [ H2L [T TLA 27y 221 . 24
H22 16' 32! 2.1 2.0
[ __H20 | ____. 16, ____: 22y .19 .. 2.0
38 [ __Her_ | .. 12 21, 16, ___. 17
H2?2 141 18! 1.6 1.7
H20 13! 26! 1.8! 1.9
39 [ H2r_ ) . 13 9 ____ 16 ____ 17
H2?2 131 171 1.61 1.6
[ __H20 ) . 1.'3.: ...... 2 '.5.: ———— - !".8.:. ..... 19
% | H2aL L. 1.'2.: ...... 3 '.3.: ———— - !".9.:. ..... 19
H22 12: 221 138 18
| __H20 | ____. 19, 490 29 . 38
C-7 [_Ha | . 2L 44: 30, . 34
H22 19} 50! 29! 31
H20 16, 39, 26, 3.3
C-8 | _.H21 | _____ 16, ____ 47, 281 . 3.0
H22 12! 35" 2.2 25
| __H20 | ____. 13 38, ___.22,_____ 24
C-9 | _.H21 | _____ 20, 34y ___ .27, ____ 2.8
H2?2 18 341 2.2 23
[ __H20 | ____. 15 34y __ .21 . 2.4
43 L __H21 | . 15 25" ____20v . 2.4
H22 131 201 1.81 2.0
H20 131 2.4 2.01 2.2
ZZ S < N IR - S N ¥ R K
H22 14 2.1 1.7 19
[ __H20 ) . 1.'2.: ...... 2 '.7.: ———— - !".8.:. ..... 18
45 . _I:'Z_l_ ________ 1_'4_' ______ 3 '_0_' —m - ;I"_gl _____ g!‘
H22 14, 26, 1.8, 1.9

COD

10




1 T-N,T-P
[ Im% | .
[ _H20 [ 069, 200, _107 [ _0053i__0.160:_ 0093
C-3 H21 054; 1.80: 0.90 0066, 0210, 0.102| 009
H22 062) 120} 0.92 0063, 0.120} 0.087
H20 033] 130, 0.69 0020 0110, 0.060
C-4 | H2i [ "7026' 130" 049 [~ 0041 70.210' 0.079
H22 034! 096' 057 0.028' 0.080' 0.049
[ _H20 | _ 022 _ 089, _0.44 | 0010, _0.081; 0.038
C-5 | _H21 | __013; _058; _0.29 | _0032]__0078; 0.0%4
H22 024! 075" 0.39 0.020' 0.084' 0.042
H20 160'  1.80' _1.68 0099' 0.190' 0.130
O-1 [ H2i f ~_110: L1401 _128 [ _0086:_ 0140 0.109
H22 110+ 1500 130 0070 0.130' 0.09
H20 081t 140' 1.04 0038' 0.180' 0.093
0-2 [CHZL 7|7 77070:"2.00: ~ 114 [ 0060+ ~0.140:~ 0.0%
H22 0901 210+ 1.48 00611 0.170: 0.106
H20 0621 1301 0.87 0070+ 01101 0.087
0-3 | H2i [~ 059, 089 _ _078 [ 0055:_ 0098, 0.074
H22 052; 1.00. 0.76 0040, 0.130, 0.074
H20 046: 081, 0.67 0049: 0.090, 0.069
S-1 [_H2L | 7027, 110, _ 065 [ 0026, 0039, 0.0
H22 043} 0.80! 054 0025, 0.087! 0.045
H20 026, 074, 055 0032, 0.100, 0.059
1 | .H21 ) 024 120, 049 | 0032, _0.070;_ 0.049
H22 027' 065' 045 0.034' 0.070' 0.051
H20 032! 1.00' 0.65 0033! 0.140! 0.075
2 | _H21 ) 030y _1.00;_ _059 | 0033, 0110} 0.064
H22 032! 110" 0.66 0.034' 0.110' 0.069
[ _H20 [ __088: _3.00: _170 | _0046:_ _0.082:  0.065
46 | H21 | 1100 _470:_ 310 | _0036:__0.130:_ 0.064
H22 - 1 - 1 - - 1 - 1 -

T-N T-P

11




2 T-N,T-P
[ Im% | .
| _H20 [ 033 _130:_ _056 | 00261 _0.110:_ 0055
- H21 0171 089 038] 06 0029: 0.083: 0.051] 005
H22 030; 0.77: 047 0017: 0.070: 0.044
| _H20 | _ 025, 096, _046 [ 0022, _0110:__0.046
- H21 017 070, 0.30 0034, 0.082, 0.052
H22 025, 059, 0.33 0017, 0.064; 0.038
H20 021} 097, 042 0023, 0081, 0.041
- | H21 [ "T010' T 039" 023 [~ 0025 0.063' 0.042
H22 021' 063" 0.33 0019' 0.066' 0.036
| _H20 | __023; _0.69, _039 | 0027, 0.054; 0.039
- p.H2l [ 013 _0.42] 027 | 0028, 0051} 0.038
H22 019' 059' 0.30 0021' 0.050' 0.033
H20 022! 059! 042 0029' 0.067' 0.047
28 | _H2i [ 023 0721 036 [ - 0030r 0067 0.041
H22 025' 1.00r 0.47 0030' 0.091' 0.052
H20 0231  0.72r 047 0034' 0.120' 0.053
29 [_A217| 77019084 " 051 [ 00251 0.0721_ 0.0%
H22 028 0931 050 0030 0.073: 0.054
H20 0181 047+ 0.32 00231 00561 0.038
32 [ _H2L |~ 019, (061 034 [ _0021: 0056:_ 003
H22 013; 060: 0.32 0021, 0.049, 0.035
H20 017 049, 0.33 0011: 0047, 0.033
- [oH2i ) _T012,”" 030,022l 03 [ 0025, 0.049,  0.039| 003
H22 022} 055! 0.34 0019} 0.053} 0.034
H20 024) 053, 034 0018, 0047, 0.032
- [-H2i | _T0ii}”” 0.48;__ 0.22 [ 0022} 0048, 0.034
H22 019' 059' 0.33 0011' 0.047' 0.031
| _H20 | __017; _ 037, _0.28 | 0019, 0.046; 0.033
- p.H2l {0 _010;_ _0.37; _0.19 | 0017, _0.050;_ 0.036
H22 015' 0.60' 0.29 0018' 0.054' 0.034
H20 017! _ 0.62'_ _0.32 0017' 0.042' 0.029
- [-H2i | _Codor__ 0.40:__ 0.19 [ - 0026: 0055 0.0%5
H22 017' 044+  0.25 0017 0.039' 0.029
H20 014+ 033+ 022 00201 0.060' 0.032
- [CAILC D 70107 0.4 05 [ 0023 "0.100:~ 0.055
H22 017, 0351 0.24 00181 0.034: 0.027
H20 0151 0461 0.31 0025: 0.053:1 0.037
34 | H2L | _ 015, _038 __0.28 [ 0023, _0045:_ 0032
H22 011, 058, 0.1 0021, 0.049, 0.032
H20 016: 0361 0.24 0023: 0.040, 0.031
35 | H2l | _ 016, _ 0.34, _0.24 | 0023, 0044, 0030
H22 013} 030} 0.21 0021} 0.037) 0.027
H20 009! 029! 0.9 0020! 0.035! 0.028
38 | H21 | __014; 028 019 | 0021, 0.034; 0.0%
H22 012! 025' 0.17 0019' 0.034' 0.025
[ _H20 [ __014] _023; _0.18 | _0018] _0.036;_ 0.026
39 | _H21 | __016; _ 028 _0.19 | _0018] _0.033} 0.0z
H22 013" 0.26' 0.16 0018' 0.032' 0.024
| _H20 [ __014: 027 _0.20 | _0017: _0.034:_ 0.026
9% | H21 | __014: 026: 018 | _0017: _0.038: 0.025
H22 011' 025+ 0.18 0014' 0.034' 0.024

T-N T-P
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[ ootmens
[C—Joomoa  002mo/L
[ oo2mans v &
0.02mg/L
0.01mg/L (? ? 1|0 2|0km
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2 1 2
L __H0 [ - -1 1  l-.-.- HO | .- .
C-3 | “Ha [T 0018 A2 [T 0.007
H22 0.005 H22 0.003
H20 - H20 -
C-4 | _ _Ha | 0.007 A3 [ 1 | 0.005
H22 0.005 H2?2 0.004
[ Ho [ - -t 1 1._. Ho | . 0003
C-5 | __Ha [ 0.008 32 [ w1 | 0.001
H22 0.004 H2 0.004
| __H20__ [ ___- -1 1  l... HO _ | .__- .
0-1 H21 0.004 A-6 H21 0.007
H22 0.005 H22 0.005
| __H2O__ |- -1 1 l-.-_ HO_ | ____ .
0-2 [ __Ha _ [« 0012 A7 | H1 L. . 0.004
H22 0.007 H22 0.005
L __H0 [ _- -1 1 l-.-.- HO | .. 0.004
0-3 [ __Ha _[____J 0018 34 [ H1 [ 0.001
H22 0.004 H22 0.004
| __H0_ _f 0011 [ __H0 | 0.003
S-1 [ Ha T[T 0011 35 7 0.001
H22 0.006 H22 0.002
| __H20_ | 0.005 | __H0_ |- .
1 [T H2 T[T 0.003 A-10 | TR [T 0.006
H22 0.004 H22 0.008
L __H20_ | 0.006 [ ___H20__ .. .
2 [ H2t | 0.003 A-1l [ W1 | 0.003
H22 0.006 H2 0.007
| __H20__ | 0011 | __H0_ | _____ 0.003
46 [ Ha | <0001 38 L 0.001
H22 0.010 H22 0.001
[ H2o [ - - 1 1. o | 0.002
B-3 | __Ha_ | ____« 0.005 39 2 <0,001
H22 0.003 H22 0.001
[ Ho |- - 1. O 0.002
B-4 | _Ha |« 0.004 95 [ H1 [ 0,001
H22 0.004 H22 0.002
| __H2O_ |- .
B-5 [ H2A [T 0,010
H22 0.003
[ H2o [ 0006f | ] o0.0img/L
28 [T THa T 0,002
H22 0.005 | | 0.0lmg/L  0.02mg/L
H20 0.005
29 | H2a [ oo03f [ ] o02mg/i
H22 0.006
COD
002mg/L
001mg/L
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ha

441
115
5.4
18
4.1
5.2
6.4
2.3
93.8

100m
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